



的体

价

$$= \quad = \sqrt{\quad} \qquad = - \quad = \sqrt{\quad}$$

①②

$$= \sqrt{\quad} \qquad = \quad = \sqrt{\quad}$$

△

$$+ \quad - \quad + \cdots + \quad = \quad + \quad + \quad = \quad +$$

$$= \frac{\quad}{+ \cdot +}$$

$$\begin{aligned} (+) &= (+)(+) \quad (+) = (+ +) \\ &= (+) = (+ +) \\ &= - = -(\in^*) \\ &= -(\in^*) \quad = \frac{\quad}{+ \cdot +} = \frac{\quad}{(+)} = -\left(\frac{\quad}{+}\right) \end{aligned}$$

$$= -\left(\frac{\quad}{+} \frac{\quad}{+}\right) = -\frac{\quad}{(+)(+)}$$

$$= - + (\quad) \quad + - = \frac{\quad}{+} = (\quad)$$

$$= \quad = + = + = \quad =$$

$$= - = -(\in^*)$$

$$+ \quad - \quad + \cdots + \quad = \quad + (\in^*)$$

$$- \quad + \quad - \quad + \cdots + \quad = (-)$$

$$+ \quad - \quad + \cdots + \quad = (-)$$

$$= \quad + - (-) \quad \frac{\quad}{+} = (\quad)$$

$$= \quad =$$

$$= - = -(\in^*)$$

$$|\Gamma^+|^2 = |\Gamma^-|^2 \quad \Gamma^+ = \dots \quad \Gamma^- = \dots$$

$$-\Gamma^+ = \dots$$

$$\lambda \quad | \quad | \cdot | \quad | \quad \lambda$$

$$= + \quad (\quad) \quad (\quad) \quad (\quad)$$

$$\left\{ \begin{array}{l} = + \\ -\Gamma^+ = \dots \end{array} \right. \quad (\quad +) \quad + \quad + \quad - =$$

$$\left\{ \begin{array}{l} \Delta = (\quad + \quad - \quad) \\ + = \dots \\ = \dots \end{array} \right. \quad | \quad | = \sqrt{\dots} \quad | \quad - \quad | = \frac{\sqrt{\dots} \cdot \sqrt{\dots}}{\dots}$$

$$= \frac{| \quad |}{\sqrt{\dots}}$$

$$= \frac{\sqrt{\dots} \cdot \sqrt{\dots}}{\dots} \cdot \frac{| \quad |}{\sqrt{\dots}} = \dots + =$$

$$| \quad | = \frac{\sqrt{\dots} \cdot \sqrt{\dots}}{\dots} = \frac{\sqrt{\dots} \sqrt{\dots}}{\sqrt{\dots}}$$

$$= \frac{\dots}{\dots} = \dots = \frac{\dots}{\dots} \quad | \quad | = \sqrt{\dots} = \sqrt{\frac{\dots}{\dots}}$$

$$| \quad | \quad | = \sqrt{\frac{(\dots)(\dots)}{\dots}} \sqrt{\frac{(\dots)}{\dots}} = -$$

$$= \pm \dots \quad (| \quad | \quad |) = - \quad \lambda - \quad \lambda -$$

$$\lambda \quad | \quad | \cdot | \quad | \quad \lambda$$

$$\left\{ \begin{array}{l} \Delta = (\quad + \quad - \quad) \\ + = - \frac{\quad}{+} \\ \quad = \frac{-}{+} \end{array} \right. \quad \left| \begin{array}{l} - \\ + \end{array} \right| = \left| \begin{array}{l} - \\ - \end{array} \right| \quad \therefore =$$

$$- + (\quad +) (\quad +) =$$

$$+ =$$

$$\lambda \quad -$$

()

$$\hat{\quad} = - +$$

$$\hat{\quad} = \quad -$$

-

^				



